Cumulative Frequency and Quartiles
On a cumulative frequency graph, a number on the vertical axis shows the
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number of items h. ESS THaN the corresponding value on the horizontal axis.

So we plot the points at the end of each class interval

Example: The masses of a sample of 160 Estima potatoes are as shown below:

Mass (g) | Frequency Mass Cumulative Frequency
50-100 5 50<m <100 S
100-150 18 50 =m < [150) 23
150-200 | 36 50 <m < P00) S 9
200-250 70 50 <m <[250) |72 9
250-300 24 50 <m <[300) | § 3
300-350 7 50 <m <[350) \b o
(a) Calculate the cumulative frequencies and draw a cumulatg frequency graph.
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(b) Use your graph to estimate the percentage of potatoes which have a mass of
275
over 275¢ 14S ?»‘m,\-o&s less Faen L1 S’S
Lo —1LS = (¥ Qorelors owes 'D._’ZS'S

\S < \00: C\.%"/o

lb() —_—

Median and Quartiles

The median is one way of showing the average of the data.
The interquartile range is a way of showing the spread or variation in the data.

To find the median, draw a line across at %> the total frequency, and read down.
To find the quartiles, draw lines at ¥4 and ¥ of the total frequency

Example (continued)

(c¢) Find the median mass of these potatoes.
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(d) Find the quartiles and interquartile range of these potatoes
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(e) A sample of Desiree potatoes gave the following results:
Median = 195¢g Interquartile range = 92¢
Use these values to make two comments comparing Estima and Desiree potatoes.
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